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� 7��= wave period

 λ  = wave length �����

� D = wave amplitude

J�= acceleration of gravity

F =  λ / T  = phase speed

W = time

[ = direction of propagation

] = vertical co-ordinate
positive upward, origin
at still water level

G = water depth

SG�= dynamic pressure

d o
p  -  gz +  pρ =  total pressure in

the water ( -ρJ]  = hydrostatic pressure,

o
p  = atmospheric pressure).

E =  g a1
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2ρ  = wave energy (per unit

surface area)

P Ec
g

=  = wave energy flux (per unit

width along the wave crest)


